
Supporting information 

Aldol-type Reactions of Unmasked Iodoacetic Acid with Carbonyl 

Compounds Promoted by Samarium Diiodide: An Efficient Synthesis 

of Carboxylic 3-Hydroxyacids and their Derivatives. 

José M. Concellón,* and  Carmen Concellón 

 

General Experimental, Spectroscopic data and 13C NMR of 3-Hydroxy-5-
methylhexanoic acid (1a)…......................................................................................

 
2S 

13C NMR of 3-Hydroxy-4-methylhexanoic acid (1b)……………………………. 3S 

Spectroscopic data and 13C NMR of 3-Hydroxy-4,4-dimethylpentanoic acid 
(1c).............................................................................................................................. 

 
4S 

Spectroscopic data and 13C NMR of 3-Hydroxydecanoic acid (1d)...………….. 5S 
13C NMR of 3-Hydroxy-5,9-dimethyldec-8-enoic acid (1e)……………………... 6S 
13C NMR of 3-Cyclohexyl-3-hydroxypropanoic acid (1f)……………………….. 7S 

Spectroscopic data and 13C NMR of 3-Hydroxy-4-phenylbutanoic acid (1g)…. 8S 
13C NMR of 3-Ethyl-3-hydroxypentanoic acid (1h)……………………………... 9S 
13C NMR of 3-Hydroxy-3-methyloctanoic acid (1i)……………………………... 10S 
13C NMR of 3-Hydroxy-3-phenylbutanoic acid (1j)…………………………….. 11S 
13C NMR of 2-(1-Hydroxycyclopentyl)acetic acid (1k)………………………….. 12S 
13C NMR of 2-(1-Hydroxycyclohexyl)acetic acid (1l)…………………………… 13S 
13C NMR of Methyl 3-hydroxy-5-methylhexanoate (4a)………………………... 14S 
13C NMR of Benzyl 3-hydroxy-5-methylhexanoate (5a)………………………… 15S 
13C NMR of Ethyl 3-hydroxydecanoate (6d)…………………………………….. 16S 

Spectroscopic data and 13C NMR of 4-Heptyloxetan-2-one 13C NMR of (7d)… 17S 

Spectroscopic data and 13C NMR of 4-Benzyloxetan-2-one (7g)……………….. 18S 
 
 



 2S

General Experimental. Reactions requiring an inert atmosphere were conducted under 

dry nitrogen, and the glassware was oven dried (120 °C). THF was distilled from 

sodium/benzophenone ketyl immediately prior to use. All reagents were purchased in 

the highest quality available and were used without further purification. 1H NMR 

spectra were recorded at 200, or 300 MHz. 13C NMR spectra and DEPT experiments 

were determined at 50, or 75 MHz. GC-MS and HRMS were measured at 70 eV. 

 
 

3-Hydroxy-5-methylhexanoic acid (1a): 1H NMR (300 MHz, CDCl3): 7.76 (s, 1H), 

5.38-5.28 (m, 1H), 3.49 (dd, J = 16.5, 3.4 Hz, 1H), 3.37 (dd, J = 16.5, 8.7 Hz, 1H), 2.60 

(aparent hp, J = 6.6 Hz, 1H), 2.33-2.22 (m, 2H), 1.59 (d, J = 6.6 Hz, 6H); 13C NMR (75 

MHz, CDCl3): δ 177.5 (C), 66.2 (CH), 45.4 (CH2), 41.5 (CH2), 24.3 (CH), 23.1 (CH3), 

21.9 (CH3); MS (70 eV, EI) m/z (%) 128 [M+- H2O, 3], 89(100), 71 (90), 69 (18), 43 

(36); HRMS (70 eV) calc. for C7H14O3 [M
+- H2O] 128.0838, found 128.0823; IR (neat): 

2959, 2627, 1713, 1266, 741 cm-1; Rf = 0.4(hexane/EtOAc 3:1); Anal. Calcd for 

C7H14O3: C, 57.51; H, 9.65. Found: C, 57.60; H, 9.67. 

 

OH

OOH

1a  

 



 3S

OH

OOH

1b  

 



 4S

3-Hydroxy-4,4-dimethylpentanoic acid (1c): 1H NMR (300 MHz, CDCl3): 6.65 (s, 

1H), 3.71 (dd, J = 10.5, 2.2 Hz, 1H), 2.46 (dd, J = 16.1, 2.2 Hz, 1H), 2.29 (dd, J = 16.1, 

10.5 Hz, 1H), 0.80 (s, 9H); 13C NMR (75 MHz, CDCl3): δ 178.5 (C), 75.5 (CH), 36.4 

(CH2), 34.4 (C), 25.4 (3 x CH3); MS (70 eV, EI) m/z (%) 113 [M+- CH3- H2O, 4], 

89(61), 71 (48), 57 (100); HRMS (70 eV) calc. for C7H14O3 [M
+- CH3- H2O] 113.0603, 

found 113.0591;IR (neat): 3295, 2960, 1715, 1292, 1164 cm-1; Rf =  0.4 (hexane/EtOAc 

3:1); Anal. Calcd for C7H14O3: C, 57.51; H, 9.65. Found: C, 57.58; H, 9.69. 

 

OH

OOH

1c

 



 5S

3-Hydroxydecanoic acid (1d): 1H NMR (300 MHz, CDCl3): 7.81 (s, 1H), 4.73-4.65 

(m, 1H), 3.22 (dd, J = 16.4, 3.4 Hz, 1H), 3.11 (dd, J = 16.4, 8.7 Hz, 1H), 2.28-1.93 (m, 

12H), 1.53 (t, J = 6.7Hz, 3H); 13C NMR (75 MHz, CDCl3): δ 177.7 (C), 68.1 (CH), 41.0 

(CH2), 36.3 (CH2), 31.7 (CH2), 29.3 (CH2), 29.1 (CH2), 25.3 (CH2), 22.5 (CH2), 14.0 

(CH3); MS (70 eV, EI) m/z (%) 171 [M+-OH, 19], 155(43), 127 (53), 83 (18), 71 (100); 

IR (neat): 2927, 1716, 1265 cm-1; Rf = 0.4(hexane/EtOAc 3:1); Anal. Calcd for 

C10H20O3: C, 63.80; H, 10.71. Found: C, 63.86; H, 10.74. 

 

OH

OOH

1d  
 
 
 
 

 



 6S

OH

OOH

1e  

 



 7S

OH

OOH

1f  

 



 8S

3-Hydroxy-4-phenylbutanoic acid (1g): 1H NMR (300 MHz, CDCl3): 7.20-7.33 (m, 

5H), 7.22 (s, 1H), 4.30-4.15 (m, 2H), 2.75- 2.89 (m, 2H), 2.40- 2.60 (m, 2H); 13C NMR 

(75 MHz, CDCl3): δ 177.0 (C), 137.3 (C), 129.3 (CH), 128.5 (CH), 126.7 (CH), 68.9 

(CH), 42.8 (CH2), 40.2 (CH2); MS (70 eV, EI) m/z (%) 162 [M+- H2O, 22], 103(4), 92 

(100), 91 (61); HRMS (70 eV) calc. for C10H12O3 [M+- H2O] 162.0681, found 

162.0689;IR (neat): 3421, 3055, 1716, 1265, 739 cm-1; Rf = 0.3 (hexane/EtOAc 3:1); 

Anal. Calcd for C10H12O3: C, 66.65; H, 6.71. Found: C, 66.59; H, 10.68.  

 

OH

OOH

1g  

 



 9S

OH

OOH

1h  

 



 10S

OH

OOH

1i  
 
 
 
 

 



 11S

OH

OOH

1j  

 



 12S

OH

OOH

1k  
 
 

 



 13S

OH

OOH

1l  

 



 14S

O

OOH

4a  

 



 15S

O

OOH

5a  

 



 16S

O

OOH

6d  

 



 17S

4-Heptyloxetan-2-one (7d): 1H NMR (300 MHz, CDCl3): 4.57- 4.45 (m, 1H), 3.51 

(dd, J = 16.1, 5.7 Hz, 1H), 3.06 (dd, J = 16.1, 4.3 Hz, 1H), 1.93-1.65 (m, 2H), 1.50- 

1.20 (m, 10H), 0.89 (t, J = 6.8 Hz, 3H); 13C NMR (75 MHz, CDCl3): δ 168.0 (C), 70.8 

(CH), 42.3 (CH2), 34.1 (CH2), 31.2 (CH2), 31.1 (CH2), 28.6 (CH2), 24.4 (CH2), 22.1 

(CH2), 13.6 (CH3); Rf = 0.27 (hexane/EtOAc 9:1); Anal. Calcd for C10H18O3: C, 70.55; 

H, 10.66. Found: C, 70.59; H, 10.70.  

 

O

O
7d

 

 



 18S

4-Benzyloxetan-2-one (7g): 1H NMR (300 MHz, CDCl3): 7.39- 7.20 (m, 5H), 4.66-

4.45 (m, 1H), 3.54- 3.43 (m, 1H), 3.27-3.00 (m, 3H); 13C NMR (75 MHz,CDCl3), δ 

167.6 (C), 134.8 (C), 129.1 (2 x CH), 128.9 (2 x CH), 127.2 (CH), 70.7 (CH), 42.4 

(CH2), 40.4 (CH2); IR (neat): 3030, 2968, 1830, 1496, 1267 cm-1; Anal. Calcd for 

C10H10O3: C, 74.06; H, 6.21. Found: C, 74.02; H, 6.18.  

 

O

O
7g  

 


